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#@P : Two tani ent‘ and@are drawn to a circle with centre O from an
external point P . Prove that angle APB =J ( angle OAB ). Lotk (0= LN
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rom an external point P two tangents PA and PB are drawn to the

ith centre O . Prove that Q_E IS the perpendicular bisector of AB.
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LP : PQ is a chord of length ’ of:‘}ﬂ'ag of radius 10 cm . The tangents at
P and Q intersects at a point T . Find the length of TP .
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# LP : In figure , | and m are two parallel tangents to a circle with centre O,
touching the circle at A and B respectively . K‘notﬁer tangent at C intersects the
line l at O and m at E . Prove that « DOE = 90°
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# LP : In the figure a triangle ABC is drawn to circumscribe a circle of radius 3
cm , such that the segments BD and DC are respectively 6 cm and 9 cm of
. If the area of triangle ABC is 54 cm sq. , then find the
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